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SECTION -A
Analytical Ability
FARE FBoged

Questions : 75 Marks : 75
(e 75 Srdope0: 75

(i) Data Sufficiency (Marks : 20)
dgrod Sogss

Note :

eSS e

In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(a) Marlg choice (1) if the statement I alone is sufficient to answer the question.
(b) Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) M choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

1 %08 20 $8& aDYS (B8 [HHS® o8 (HF), o°d (808 I, T 8 thhen o
Bodh (BbSoren dgroforr adgugron. AWS ST &HAIrHoW,

al)d oo HHE Sreed) ad)odhs dugdw vHeodr So

©d D& dgoowrd. & e (8o WESHE ArEw GHIrAOD
(1) $08 (4) H8% H0 vowd wad Jobs Johod :

() PHS Sdrgrdo 20 (HdSdo I S| 8D éo*géé:wé 2 22w
(1) e HBoNod.

®) PR Ssrerdo adi)osd BbiSo I drEd Horghoond » warw
(2) e HBoN0d.

© (h% Sdrerdo adyoo® Hdseren 1, IT Sod Horgddoow wosS®
D 2.8 ¢ &rar Sovgo 548 o aarew (3) me HYoSod.

@) EHS Sdrerdo 3o BdSoren I, I Sod &rae Hogdo S8
w5 Seroto eStEand b ware (4) i Q0SB0
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S.

If ais an integer and 100 < a < 200, what is the value of a ?
100 <a <200 o&r a Prgro¥dand, a Devsd Jod?

I.  When ais divided by 10, the remainder is 5.
a % 10 & Ao, Fadw S.

I.  When a is divided by 8, the remainder is 3.

a % 8 & rAoSme, Fhdw 3. L',
What is the value of 0 ?
0 e o ?
I. sin?20-1=0
II. 0<O6<m 3

What is the area of an equilateral triangle ?
28 5 i (802 Srogdod ?

I Each angle of the triangle is 60°.
(B202206° (58 'm0 60°.

Il.  The height of the tn'a'nglc is 12 cm.
(83D & 12 0.2D. p

If a and b are real numbers, what is the value of a® + b3 ?
2,b o &3S Sowgoowd, a’+b® dewd Jod ?

L a2+b2=0
. a+b=4 |

Isx?<y??
2 <y oHdoar ?

I  x<y

I.  xand y are non-negative real numbers.

x, y oo HBd8 %S Sopgen. ) 3

3 P.T.O.
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What is the rate per metre length of the fencing of the rectangular field ?
o8 6g BHYD s EY Slovn8 E0d Soherdd 28 bl $0BH v Jod ?

1. The area of the field is 10,000 sq. metres.
|83 rogo 10,000 5.2,

II. The total cost for fencing the field is Rs. 1,00,000.

3|ov08 K0B Soards Iwgo HdE> 8. 1,00,000. L',
What is the value of the non-negative integer a ?
SBSY Jrgro¥o a Jevd Jod ?
I.  3*divides 33886.
33886 & 3* e A0D.
I, 7*divides 2058.
| 2058 & T2 g A0, |

Is the set A contained in the set of prime numbers ?
5B A, wereg dowrg HBS* dodnoae ?

1. Every element of A is a positive real number.
A &% 58 Drofdy o8 $O RS Jowg.

. Ag {x eR|x< ':; for all positive integers n]

Ac{xeR|L§8é;’o‘@g~o§on§r,x<%} 3

Is the real number a, positive ?

TR dowg a, éa'éléér ?

L. a’<0

.. a2-5a+6<0 | o 2

Is it a Sunday ?
©d WdT S ?

L. The same date in the previous year as a Friday.
(880 HodE B0 68 b HETTo wanod.

. Itis 1¥ January 2088.
o8 2550 1, 2088. B
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11.

12,

13.

14.

15.

The price of which of the mobile phones A and B is reduced more ?
DS P A D0 B 0&° B pbish 2¥n S ShoSadod ?

I.  The price of A is reduced by 10%.
A 98 10% Shodadod.

II.  The price of B is reduced by 12%. L'_
B 98¢ 12% ShoSwdod.

If a, b and ¢ are distinct prime numbers, is a an even number ?
a,b, c e PY) wareg éo:pgoo»é, a 30 Jopg vHdowr ?
I.  The product of a, b and c is even.
a,b,c © ©x0 0 K)ospg.
II.  The sum of b and c is odd.
b, ¢ © Awgo T Jowg. 2‘

Are a, b and c in arithmetic progression ?
a,b, ¢ & wo¥ HAS* Hmyokr ?

I.  5a, 5b and 5c are in arithmetic progression.
5a, 5b, Sc & @o¥ [FAS® Hwyow.

II.  2a, 3b and 4c are in arithmetic progression. l
2a, 3b, 4c e wo¥ [@GS® Hmyow.

Is n divisible by*720 ?
n ¥ 720 gra¥dr ?

I.  nisdivisible by 24 and 30.
n £ 24,30 e yrasto.

II. n=a(a+1)a+2)a+3)a+4)(a+5) for some positive integer a. 2_
2.8 &S Jrgroso a H, n=a@+ 1)(a+2)a+3)a+4)a+5).

Whatisa:b:c?
a:b:cooe ?

L a:b=2:3
II. b:c=5:6 4 3

5 P.T.O.



16.

17.

18.

19.

For integers aand b, is a> b ?
Jrgrost a,b o, a>b vYdoae ?
I. Ja|>b

II. |al=b

What is the value of sin 6 ?
sin 0 evd does?

sind 0 0

3 4 1

I. The matrix[ 2 20 ]i; not invertible.

'sin® 0 0 -
@81 2 2 0 [DSWghe s
3 4 1

I 0 lies in the second quadrant.

0 3o&’ .ﬂ‘doé‘ VH0.

Does the natural number n divide 15n% + 8n +6 ?
1507 + 8n + 6 & Jrgrdopg n il ?

L
L. ndivides 10

10 £ n ra28dw.
L ndivides 3!
31%n ra¥o.

What is Z A in the triangle ABC ?
(88He30 ABC &° LA o8 ?

L. ZA=24B

I 34B=24LC

A and B are two sets. What are the elements of B ?

A, B o0 Bodh Héen. B &° hroste o ?

. AnB={1,234,5)
1. A-B={7,8,9,10}

16AL-83
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(i) Problem Solving
(a) Sequence and Series

A

(Marks : 55)
(Marks : 25)

Note : In each of the questions numbered 21 to 35 a sequence of numbers or letters that follow
a definite pattern is given. Each question has a blank space. This has to be filled by the
correct answer from the four given options to complete the sequence without breaking

the pattern.

RS 1 21 % Do 0od 35 Sowd H8H Ko (B8 [HHHSEr alyd Sopgen md), v¥oren
™ 28 (Ehagdond Jobird) ShIyow. (B8 (HHSEr, uf 5D adyd
TP 9%5‘0 Dod VO wond =arawnd SRS, BDED JabErd8 Hotfo

SoHoar Yroowrd.
21. 4,7,19,67, 1027
(1) 108 (2) 148 \,(a( 259
3 8 24 35
2. 970 '26'37
9 1 13
M 1 @ 13 @ 15
23. 2+4/5,9+ 45, ,161 + 7245
(1) 18+16\5 (@ 38+115 (3) 64435
24. ABD, EFH, , MNP, QRT
(1) GHI @) DK « UL
25. 99:120:: 163
(1) 36 48 (3) 50
2. T;W,ZC, I
(1) D () E @ F
27. 5,10,26,50, 122, -?A 290, 362
(1) 140 2) 170 (3) 184
28. 22%25.28%»—'40
v/ 1 2 2
(1) 333 @ 363 3) 343
29. (2,0),(53),(10,8),
(1 (13,11) Q) (14,12) (3) (15,13)

7

4) o617

15
17

@ 72 + 645
4 JKM
@ 52

@) H

(4) 226

4
4) 35 5

%) (17, 15)

P.T.O.



31.

32.

33.

3s.

BAT, EDW, [HA,
(1) NMG

, IHN, SRX, CBH
(1) YXE \1?) YXD

ABC:ZYX ::EFG:

(2) MNF

(1) ECB ) DCB
25, 49, 121, 225,

(1) 361 (2) 256
1800 : 1675 : : 3600 :

(1) 3275 (2) 3450
2,-1,5-7,____ . -31
13 9 2 11

(3) NME 77
3) XYD @)
(3) DCA 4)

v s @
V6

3350 4)
3) 15 VG

Note : In questions 36 to 45, pick the odd thing out.
SrSS5 136 Dod 45 DB Ko (HhHod® K0 oD Hhosod.

36. (l)‘ 35 \6) 46

37. (1) 28 ,\é) 65

38. (1) FIHG (2)

39. (1) 80 (2 99
(1) Bus complex ‘6)

40.

41. %)
2. v0)

43.

45.

KNMLV€)

Cinema hall

B) 72 @)
(3) 126 Vﬁ)

RTUS 4)

vl

(3) Railway station (4)

3) 120

235 s*0RE) DGR SHew 38 D
2T1 @) 2V2 (3) 2X4 )
Hand (2) Eye (3) Ear th)
Sow &) 39
1) 2+1=0 (2) 2+3x+6=0
(B) 2+2x+5=0 Vv 2-x_12=0
M K @ C @) G Vi
(1) VIOLIN (2) VEENA (3) MANDOLIN ‘63

16AL-83

NMF
YXF
FCB-
676
3375

17

91
216
VYXW

163

Aerodrome

. Dér&!'@dbo

2Z6

Mouth
S

FLUTE
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(b)

47'

Data Analysis (Marks : 10)

Note for questions 46 to 50 :

Study the following Pie diagram and answer the questions 46 to 50 :
46 - 50 (5% o SriS:
(808 b (Pie) Bérdy H0%00D (DH)e» 46 - 50 0% 2D 0d.

If the author’s royalties amount to Rs. 30,000/- more than the printing charges, how much
will be the amount for advértisement charges ?

Mo pie o8 SSondsdy o8 NLo 30,000 &». 8y Hond, [DHEGSO P
o ?

(1) Rs.60,000* (2) Rs. 45000 (3) Rs. 75,000 Vé) Rs. 90,000

What is the angle of the sector for miscellaneous charges ?
288 PO D+ 50 Do ?

(1) 6°36' 2) 774 \'6) 1Y 4) 6°12

If the cost of the paper and the transportation put together amounts to Rs. 70,000, then the
total expenditure incurred in bringing out the book is (in rupees)

ShS, Sorer p&e Iwgo 70,000 &r. wowd, Y [Hhsnschy wgo K
(Srrabed®)

(1) 600000 WA2) 500000 (3) 540,000 4) 4,50,000

9 P.T.O.
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The miscellaneous charges amount to Rs. 10,000 and a total of 13,000 copies of the book are

9.

) printed. What is the cost of each copy at which the book must be priced, if the publisher
desires a profit of 4% ?
add pien 10,000 &». wa), 13,000 (Hen B8 wdooo. (B8 4%
orgfo orared 6808, HIEY) o o ¥ Ngowod ?

1) Rs.40 (2) Rs.36 (3) Rs.52 (4) Rs.48

50. If the transportation charges are reduced by half, then how much is the saving if the binding
charges amount to Rs. 60,000 ?
Sarer piyen Hifo SNoHEol, Bodoh 0w 60,000 &r. wond, Jod Iwgo uar
oHod ?
(1) Rs. 15000 (2) Rs.30,000 (3) Rs.25,000 Vd) Rs. 20,000

Note for questions 51 to 55 :

In the bar diagram .given below, the frequency distribution of workers in a factory is given
according to the number of dependents they have. Answer questions 51 to 55 basing on the data
given in the bar diagram :

51- 55 5% o SIS

PR éo?’n-csoé‘ 3 I &0 Adorew, 0P SErESg o0 Jopgod wE & (808 wrb
00S* © B Y FHuPdy Mravo aRwB0d. & 8§ HLos® FWYS Bdraroed)
S0 TRED (Hen 51-55 0% aarH5308.

51.

52.

70

Literate Workers

& §U°",o§ VT
== llliterate Workers
T VEEOTRg HAarD
No. of
Workers
HAad
Sopg

1 2 3 4 5 6
No. of Dependents e3geSH3%5 00 Sopg ——>

The total number of workers in the organization is
@ H0RS* B FH o0 Iwdo dowg
G -
(1) 150 \/6) 200 (3) 250 4) 300
The ratio of literate workers to illiterate workers is
008 B &, ABEordg DTS IS
(1) 21:20 (2) 20:21 \43) 21:19 “(4) 19:21

10
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v

53. The number of literate workers with atleast 3 dependents is

930 HniHE Wers BAH TGy, sEomSg8 Ho S0 Bopg
n

(1) 50 (2) 55 (3) 65 \A) 45

54. The total number of dependents that all the workers have
giw DITHOD WSRO 0 Dowg

v s60 (2) 650 (3) 580 @) 540

55. What is the percentage of illiterate workers among the total workers ?
g HAT0S* IEEo ge TS0 Jod?
(1) 48 Vé) 47.5 (3) 48.5 (4) 525

(¢) Coding and Decoding (Marks : 10)
Note for questions 56 to 60 :
In a code, the n® letter in English alphabet is coded to K" letter, where
K = 3n + 2(mod 26), 1 < K < 26. For example, the 9™ Jetter 1 is coded as <.
since 3 X 9 + 2 = 29 = 3(mod 26) and C is the third letter. The reverse of this process is
used for decoding. Based on these coding and decoding processes, answer the questions
56 to 60.
56 - 60 |S% o JrmSS .
K =3n + 2(mod 26), 1 < K < 26 ®owd, 20fd s¥8&rod®™ n % vgoed), K &
sgfor &G TP, aorirdn 9 H ef¥o I © 3 % e¥fo C m §& I S.
Qo508 3 x 9 +2 =29 = 3(mod 26). &I IS*H (HBHS & §°6 JoH@IE @b,
& §°80R, & §5°80h BEohed aHIrAGD (B 56-60 ©% 2 DiRod.

56. The code word for ICET is
ICET & §°& %&%o0
(1) CKPJ (2) CKQI (3) CKQK \4) CKQJ

57. The code word for JOLLY is
JOLLY 8 §°G %0
(1) SILLY (2) SORRY. %) FULLY (4) PETTY

58. The word coded as GJEIQ is

GIEIQ rr §°5 Takadd Heso
(1) STATD \6) STATE (3) STBTE (4) STATF

11 P.T.O.



A o 16AL-83

Al

§9. The word coded as DENCU is
DENCU r §°8 Ja%add Hdo

%l) RADIO (2) DANCE (3) RADIC (4) DELHI

60. The word coded as KUOXMIQD is
KUOXMIQD r §& Sohadd S0

(1) COMPLEXS \({) COMPUTER (3) COMMENCE (4) COMPLETE

Note for guestions 61 to 65 :

The vowels of the English alphabet are arranged alphabetically and among these vowels, the rh
vowel is coded as (r + 1) vowel and the last as the first. The consonants of the English alphabet
are arranged alphabetically and among these consonants, the ' consonant is coded as (r - D™
consonant and the first'as the last. For decoding, the inverse process is followed. Basing on these
coding and decoding processes, answer questions 61 to 65.

61 - 65 |SH ol BmSS

20A% VEEEreS™D el)od B¥E DD [E2008° ob) & eENOS 1 H wdyN
(r + 1) $ oS, DO ¥ Fnse W) §°8 Jo%od. aohido w¥s Lrodt
Srevod w¥d SEHED0S” W), 6 Freod®d rd Fod - DD S, Swsd
Srend DH0 e &5 Johod. & Eaoh8, 61 IS HBokd rBoSod. & SN
£a0h Hoak & §'3of [HBobed wgrdorr FLHED, 61 Sod 65 P Ko [DHoo
ShrgraroD (Frobod.

61. - The code word for CRICKET is

CRICKER & §%G Hd0

(1)) BQOBJAS (2) BQOBJAU ‘6 BQOBIJIS (4) BQOBJAV
62. Which word is coded as CORBUTIQ ?

2 S0 CORBUTIQ ™ &8 Johdod ?
(1) DISCLOSE (2) DISPLACE (3) DISPLAYS \{) DISCOVER

63. The code word for EVEREST is
EVEREST % §°G d&0
\4 ) ITIQIRS (2) ITIQIRV (3) ITIQERS (4) TTIQITS
64. The code word for ENERGY is

ENERGY & §'G 580
(1) IMIQHZ 2) IMIQHX  (3) IMISFX \6 IMIQEX

12
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65.

d)

Which word is coded as QEMFIQ ?

? H%0 QEMFIQ r §8& Sobedod ?
(1) RANGES Vé) RANGER (3) PILGOP (4) SANGES
Date, Time & Arrangement Problems (Marks : 10)

If the first day of a month is a Sunday, then the date of the Monday that comes after the
second Saturday of that month, is

o 08 WSS ' wbrdo wowd, v IvS® Bodd FVado SHhard Hidy

JDarBo s 86
(1 8 2 9 (3) 15 vﬁ) 16

67. Inaleap year, if Januéry first is a Tuesday, then March second of that year falls on
28 OY BodEYBoS® 2550 AsS BB BoKErSo wowd, © Dod& Bos® &roy
Sodd 86 el &'

AD  Sunday (2) Monday  (3) Tuesday 4) Saturday
wdardo FHarSo oY 8o Fdardo

68. Fifteen years ago the ages of a mother and her daughter were in the ratio 6 : 1. If the
present age of the daughter is 20 years, then the mother’s age, in years, after 5 years from
now, is
15 JSoddyore |8oddh 2.8 8O Hday Ko Doy 6 : 1 A BS* G ow.
Sr&d (B8 Doy 20 DodSyoren wond, 2HYBS 5 DodSYore SHare o
&9 Haviny, DodySdvos®
(1) 40 (2) 45 V6) 50 4) 55

69. The number of ways of arranging 4 men and 5 women alternately in a row so that the row
begins and ends with a woman, is
28 HHIS® I LBy DS g.)) &0d ASormr, (08 2gSH g.z)o hx‘,’)g 2.8 YR
oBOL T SeniHtd Hhoen DB BXKsd 29O eHEYKONS Arare dowg
(1) 280 @ 720 V() 2880 @) 3600

70. Five persons A, B, C, D, E are sitting around a table such that D is in-between A and E, C

is in-between A and B. Then the person sitting between B and D, is

ASES DD, ASB SMSCaodb@m&&&é&s‘ymA,B,C.D,Eag v
b E8)R AN, ePH B ED § éx‘,Ss &5‘0?6)_&8_1-‘:

H A 2 C 3 D 4) E

13 P.T.O.
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The number of times that the hours hand and minutes hand of a clock coincide in a day, is
¥ 'S ¥ HAArE08D Kobe Qwen oo dwdine dwen HEFdod
Doarswe bo:pg

V6) 22 2) 23 3) 24 4) 26

72.

73.

74.

78.

A person M starts walking from a point P straight towards East. After walking 100 feet he
turns to left and walks 45 feet straight. He again turns left and walks a distance of 60 feet
straight. Then he turns to the left and walks a distance of 45 feet. The distance between M
and P in feet, is

M o3 58 ¥ Do P oD drdd) IV BHr dddo Iwden . 100
odihen DS SHard sl XD SV 8OA Y 45 wdhiben SEDT .
8% Do HHIPH 80N BH™ 60 wdibey SED . BdPH wSd KD
BKS 800 45 wibibo Erso MDTEH. M DB P o Deg Ko drdo,
sdHost

PH 6 2 55 (3) 45 vl 40

Pointing to a woman, a man said “The son of her only brother is the brother of my wife”.
How is the woman related to the man ?

28 9 BDH WS 28 Hohed aor oI Er ‘U IBE JBEH T, o 88
B, & YEHIS © &y & Ko wrogibgin AD?

(1) Grand mother (2) Sister
' 9&3&:@/@0&&&; %0
(3) Mbdther-in-law \41) Sister of father-in-law
s ; O JtS

Theoperator*isdeﬁnedbytheequationx*y=2x+yforall realxandy. [f2*a=a*3,
then the value of a =

), YD Dowgen x, y 0% HOKY * W x * y = 2x + y H0¥Beos* AEgDOBEDOB.
2*xa=a*3 wond, a G¥) dewd
n -1 @ o \6 1 @ 4

The number of 3 digit positive integers that leave the remainder 5 when divided by 7, is
73 P AOVSHPA 5 & Fdhor ad) Qardo TS KOS STHE Yrorosto
K)oupg ' )
(1) 142 (2) 141 ‘é) 129 (4) 128

14
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SECTION - B
Mathematical Ability
He38 rSoges
Questions : 75 Marks : 75
(%0 : 75 ' Srdp e : 75
() Arithmetical Ability (Marks : 35)
3011
76. 16'-8"+49°=
1 17 %) 13 3) 3 @ -1
1. IV 1
3,6 6,3
' b°) — {a°b
s )1 [5 )
a2__b2
' 11 ‘/ 3
1) Va+ib @ 2+0° (3) +fab @) (ab)’
78. If(81)‘—(243)y thcn}x+5y_
1
(81)‘:@.90})3, 4x + 5y =
M s @ 3 @ 2 vib o
79.'H§—;’;:—0' thenp:q=
3g 7
‘s'g=ﬁ- wond, p:q=
vi) 6:7 2 17:6 @) 5:9 @ 9:5
[ 7+ o 5]’
7~ 7+
@) 1827 3) (1a+\10)> @) (12+2/35)°

15 P.T.O.
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The details of investment of three persons X, Y, Z in a common business are given below.
Out of a profit of Rs. 900, the share of X in rupees is

X, Y, Z SgHen o8 adnd a'ga)'doé‘:) Dinado Aoren (808 adewgron. 900 &r.
orod® X ardr Srdraned®.
X Y Z

amount in Rs.
3»60 &‘.05‘ 6,000 7,000 6.400

time in months

s*o0 Jvod’ 2 4 3
@ 110 V2 150 @) 350 @) 400
82. A train running at a speed of 90 kmph takes 20 seconds to cross a bridge of length 150 m.
The length of the train in metres is
Hob% 90 8., InKos D) 28 Ten 150 . PEH Ko Hod8SD TBod
20 D¥oh HA8 © Joo PEY wbIS*
\/6) 350 (2) 100 - @) 50 4) 45
83. The least positive integer that leaves remainders 25, 37 and 53 respectively when divided
by 36, 48 and 64 is
36, 48, 64 ©T grNoBm HEOMT 25,37, 53 o Areor DAT) E3% Hrgro¥o
(1) 576 (2) 574 (3) 567 4) 565
A 54 . . .
84. The least integer value of n such that 3 is an even integer is
% N0 Jopg s*areod n Gy, P Yrgro¥ Dewd
(1 1 2 -1 VB -3 @ 3
85. A and B can do a work in 12 days; B and C in 15 days; C and A in 20 days. The number of
days required for all the three together to complete the work is
28 3 A, B o 12 Seros®Sr, B, C w 15 Ferosthr, C, A o 20 Serosty
Bavrod. A, B, C e dnihdr Sob o HAD Hro JobKe Seren
(1 30 @) 20 (3) 16 v 10
86. An article is sold at a profit of 20%. Had it been sold at a profit of 25%, it would have

fetched Rs. 35 more. The cost price of the article (in rupees) is

a8 SYD 20% oS v, oF HPPL 25% o erI8 ey God 35 &,
QR orgfo HFNB. ¥ TP §%) o (Srdrawed®) -
(1) 650 (2) 700 3) 750 (4) 800

16
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3
87. If a pump takes 6 hours to fill :'7"' of a cistern, the total time required to completely fill the

cistern (in hours) is

28 H0% .8 D8 FFSE 2 S0 oo 6 Hobew BTotmod. v B8 &7 From
Dot 58 Hvaso (fobeod?)

\/(l) 14 (2) 13 3) 12 4) 11

88. A tank can be filled by one tap in 20 minutes and by another in 25 minutes. If both the taps
are opened for 5 minutes and then the second tap is turned off, in how many more minutes
the tank is completely filled ?

e¥ 8D o8 Hevrow 20 AVAIWOSTEr, @08 Heray 25 JVHwOSTEr
DoY), Bodk Herovodr 5 IV Fén BED $u°gd Todd HErand HLrdIY
205° ) AdwarodH &F Yrom Joddod ?

(1) 12 2) 11 3 9 4) 6.

89. If HCF(1152, 1664) = 128, then LCM(1152, 1664) =
.39, (1152, 1664) = 128 wowd, ¥.37.1 (1152, 1664) =

(1) 1152 (2) 1154 \4) 14976 (4) 16872

90. What is the remainder when 213416 is divided by 5 ?
213416 % 5 JF e HTy Fdo Jod ?
(1n 4 2 3 3 2 \4) 1

91. A certain amount of money deposited for compound interest becomes 4 times in 4 years. In
how many years will that amount be 64 times the deposited amount if it is given for the
same rate of interest ?

Fos Togrd) S(ESE8 adySdypt ©bd 4 HodS T os® 4 O wHEod. 6
63 54 T8’ 64 Dy S°a008 ) DodE)oren HS08?

(1) 18 2 16 3y 15 ﬁ) 12

92. The perimeter of a rhombus is 100 cm and one of its diagonals is 40 cm. The area of the
rhombus in sq. cm. is

28 3 oo BH R0 (Tons) HES'od 100 20.20. @R ¥ §¥0 40 Wo.D. ©
B Bsodyzo (orows) Srego f.’).’:ot?:é‘

(1) 400 (2) 500 (3) 600 4) 800'
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The i‘engths of parallel sides of a trapezium are 20 m and 35 m and the distance between
them is 8 m. The area of the trapezium in sq. m. is

2% 5% oo S&dzo (Bo2a%0) &° HrodS ghare EHen 20 D, 35 . e
g Er80 8 . © Sdoon Sédeo Frego 5.0, 08°

(1) 110 \ré) 220 (3) 330 (4) 440

The area of a right isosceles triangle is 4.5 sq. m. Its perimeter in metres is
&8 00w J Bgard (8ghe 3Togo 4.5 .. o) WS oS HHYS*

vﬂ) 6+372 (2 3+32 B) 1+32 @ 3+42

95‘

A circular road runs around a circular ground. If the difference between the circumferences
of the outer circle and inner circle is 66 m, the width of the road in metres is (taking the

value of 7 as %—2;)

28 D)8 s 8 Dardo Wkr o8 B)ars*EH o°d ¢od. ardrg, wodd Hyore HoGe
250 66 2. vond, & o0 beny OES® (n De»&% ©%08)

(1 10 \6) 10.5 (3) 95 4 9

The height of a cone is 84 cm and the area of its base is 3850 sq. cm. The area of the
curved surface of the cone in sq. cm. is (taking the value of 7 as 2—72')

2.8 %K 84";‘00.2)). @ 3 F70g0 3850 w5.20.0. © ok Heydo Srogo
$.20.5.06" (n Do 2 wi%08).

(1) 1010 (2 10001 \6 10010 @) 11010

The ratio of the weights of three solid spheres is 8 : 27 : 64. The ratio of their diameters is
Rrch 08 Hero 28Ho I8 8:27: 64. o8 argre DB

(1) 1:2:3 2) 1:3:4 (3) 2:4:6 \4) 4:6:8

A rectangular plot is of 50 m X 30 m dimensions. Roads of width 2 m are laid joining the
mid points of opposite sides and also a path of same width running inside and along the
length and the breadth of it. What is the total area of the roads and the path in sq. metres ?

50 ab. X 30 . Soden Ko o8 88 SHBR*S78Y Yoo ¢od. 2 . ey Ho EEH
X5e8 ghero Disg DodoHels Senddr, BF B8R0 &% rKos® e Sbenyo
Joud Srae wod ey Ko e JIvd. &, wrbeo Awdo 37Togo B..08°
o ?

V) 444 @) 448 @) 928 @) 1056

18
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99.

100.

101.

102.

103.

A cylinder and a cone have the same height and the radius of the base. The ratio between
the volumes of the cylinder and the cone is

8 :ép'éo, a8 $oHHo Jdew, e agb*g*w Qardorr YIyow. © ‘;tora’ao, foHrpe
S HoDrero IS

(1 2:1 Vé) 3:1 3) 2:3 4 3:2
The side of a cube is 5 cm. Its total surface area in sq. cm. is

28 090 G¥), 2020 5 0., T HoPPY aBOSL FTego ¥.20.w0s"
(1) 30 2 9 \/6) 150 4) 200
The least 3 digit positive integer x such that x =3 (mod 8) is

x=3(mod 8) 9@3&» 3 ®o3B0 I3 S Yrgro¥o

(1) 105 ' \/(2) 107 (3) 108 4) 115
The set of integral solutions of the equation x + 8 =9 (mod 2) is

x+8=9 (mod 2) HDES IS Prgro¥ JdGare HDS

(1 2z @ 32 (3) z-32 \46 z-2z
If the sides of a rectangle art in the ratio 2 : 1 and if its area is same as that of a square of

side 8 cm., then the perimeter of the rectangle in cm. is
2.8 6g BeS[Do Fheren 2 : 1 K)‘éogé‘ o, oo Sreogo 8 0.2 oo Ko
SEHE 3Tergds Srdhond, ¥ Y SHIERY HEpFos vo.dodk

V) 242 @) 122 3) &2 @ @2
104. The number of divisors of 36000 is
36000 gras'o;’i?
(1) 30 2 72 (3) 640 4) 720
105. \J47 -4\/33 =

106.

) NG @ VBNZ VB V- @ VB
The number of diagonals of a regular polygon with 18 sides is

18 gheren Ho (8D wdmoghe Sgro Jopg

(1) 189 2 1M1 (3) 153 4) 135

19 P.T.O.
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107. In a class of 70 students consisting of boys and girls, a sum of Rs. 2,350 is distributed. If
each boy gets Rs. 30 and each girl gets Rs. 35, then the number of boys in the class is

70 208 2ro rd8w Ko a8 SHBS® 2,350 &r. & Howrd. (HB 2 ewds 30 8.,
(8 2 OEK 35 G, O, SEKBS* arend dopg

(1) 40 (2) 30 3) 25 V(i) 20

108. If n, a, b are natural numbers, n <9 and n® = 10a + b, thenb =
n, a, b e B é:/pgo@érn<9 Hoown’=10a+b wond b=

d) 2 2 n 3 3 @) 9
34
4

109. If 82"933=2=-3b.mena—b=

272 x 163

3 4

4 3

—8;—93=2'-3"son8, a-b=

272 x 16
6 11 17 12

o 5 @ ¥ v o @ 5

110. If the perimeter of a regular hexagon is 24 cm, then its area in sq. cm. is
o8 (85 ::d:ba: DRSO 24 0.2, w8 o) Frrego B§.0.2od?

1) 126 @ 18 3) 183 Vi 243

(ii) Algebraical and Geometrical Ability (Marks : 30)
111. The di}it in the units place of 374! is
3741 o Dopgs® 288 ?:606‘.0 ®08

Vi) 3 @ 9 @) 7 @ 1

112. If A, B, C are three sets, then A — (B A C) =
A, B, C e Sueh) dveoeond A - (BN C) =

(1) (A-B)n(A-0) 2 A-BuUO
v (“-BUMK-0 @ A-B-0)
113. Which of the following is a tautology ?
808 *S° 20 Dg Dasgn 7
M p-@-9 Vb ©or9-p
3 (P-9-@(@ArqQ 4 pvg-p

20
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114. If a set A has 5 elements. then the number of subsets of A with not exceeding 4 clements is
2.8 D8 A &° 5 Lrostenod, A 8 4 vosSHoae QrosTen) 4D Jdée Nogg
) 31 (2) 26 3) 5 4) 16

115. Ifcos 0 = —% and 0 is not in third quadrant, then sin 6 + tan 0 =
cos 0 =—:—§é>00xn 0 L& PS0S* B §°0 wowd sin 0+ tan 6 =
125 5 -125 -5
M 156 @ Ts6 @) Ts6 g 156
116. If o, B are the roots of the equation x2 + x + 1 = 0, then the value of 028 — 56 =
2+ x+1=030E8cr8 dareren o, f wond o8 - B56 Dewd

M -l @ a-p @) a+p VAN

117. For any positive integer n, let A_ = set of all positive integral divisors of n, then the number
of elements in A;g N A, is

(8 5 Prgro¥o n 8, A, = n G, 5 Prgro¥ raste BB v%HoB AN A,,
S drosto dopg
1) 4 2) 6 3) 72 @) 36
118. If a set A has 5 elements, then the numbr of bijections from A to A is
o€ JHD8 A & drosto Dofg 5 wond A ol A K Ko Bether (HHhotre dopg
1 28 @ 5 »((3) 5! @ 1
119. The equation of the straight line that makes intercepts % and % on X and Y-axes
respectively is .
X, Y sgop S65m 3,7 9088 poarud D85S 5568p 588w
() Sx+7y=35 vd)s Sx+7y=1 (3) Tx+5y=35 (4) 7Tx+5y=1

120. The perpendicular dis;tance from the point (2, -3) to the line 3x + 4y -4 =0 is
(2,-3) Do Do 3x + 4y~ 4 =0 HETp % vow &rdo

(1) %units «5) 2 units 3) %units (4) 4 units
3 ooty 2 Qs 2 otrae 4 Xrdes

121. The intercept made by the line passing through the points (4, =5), (5, 1) on X-axis is
(4,-5), (5, 1) DohHo Hoa~ FGH HE¥ Tp X-w¥ow B8 wodd podo

29
\/(1) T 2 %l 3 29 @) 31

21 | R I
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122, sin75°=

= o | 3

123. The minimum value of 7—-5cos x— 12 sin x is
7-5cosx-12sinx 61»5& §§)§ DEND

(1) 20 2) -5 \/(3) -6 4) 2

124, 1 sec 0= tan 0= 5, then in 0=
secO—tan 0 =5 ®ond sin 6=

12 5 -12 -5
M 13 2 13 ® 73 @ 13
sin 6 sin;e

125. secO-1 secO+1

\A) 2cosBcot® (2) 2sinOsec® (3) 2cosOtan O (4) 2cotBcosec9

126. The angle of elevation of the sun, when the length of the shadow of a tower is 4 times the
height of the tower, is e

2 Sogo Dt D & oo N 4 By &) Sabes® Ardid Mgy Emo

(1) 45° (2) tan'4 (3) 60° \'d) lan"%
' 3cl T2 1 . .
127. IfA=[0 5 ]andB=|:4 -1 ]thenthcdctcrrmnantonA+3Bls
[3 -1 2 1 "
A= 05 , B= 4 1 | 2A+3Bcﬁ»§&&)g"6§o
(1 12 %2) 72 (3) 48 4) 60
128. The inverse of the matrixl:c?se sind ]is
sin® -cos©
[c?se sin 0 ]5"[355’ 6
sin® -cos®
-cos O —sin O cos® sin0
M [ sin 0 cosO] ‘A) [sine —cosO]
—cos 0 sin© % —cos O sinB
& [—sine cose] ) [ sin © cose]

22
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is

4a 4b]
3¢ 3d

129. If A =[ : : ]and det A = 5, then the determinant of the matrix [

ab 4a 4b
A=[c d],dctA:S wond [3c 3d]a’ar|_8§ &) dgr&¥o
(1) 20 ) 15 (3) 35 Vﬁ) 60
130. umojf# +x—j4-x=
x— x
1 1
m 2 ) 4 V) 2 @ 3
131. tan 85° tan 50° — tan 85° — tan 50° = _
vih 1 @ -1 () tan35° @) tan5°
li sin 70 — sin 6 _
132. Ol-r'no sin 100 —sin 76 ~
7 48
VO 2 @ 15 ® 35 @ o
133. The coefficient of x% in the expansion of (%-3::]‘ is
(;‘22—3.:]4 Wyeacs® x—lz oo
(1) 36 (2) -36 \6) 216 @) -216
4
134. dy(]og,lp):
—log 10 -log 10 X
m o ‘/.2) x(log x)? & (log x)? @ log 10
135, lims*"le“"‘T‘lsﬁ=
X X -
1 6 ) -6 \44) 0 ) 36
136. When x> — 2x2 - 3 is divided by x — 3, the remainder is
B -22-3Jx-3 3 e 5Ty Fho
(1) -48 () 48 (3) -6 \4) 6

23
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137.

lff(x):ﬁthen f(x)atx=4is

f(x):\—/l-; wond x=458 f'(x) dewd

16AL-83

-1 -1 -1 1
vih T @ 3 B & @ 3
138. The harmonic mean of 15, 10 is
15, 10 % &8 éx‘,is&»o
(1) 125 2) 13 (3) 135 “4) 12
139, If f(x) = 2°%, then f (x) at x = g is
f(x) =205 wond x =8 F(x) =
(1) -2log2 Vﬁ) -4log?2 (3) 2log2 4) 4log2
140. The area, in square units, of the rectangle formed by the linesx=+4andy=+3 is
x=14, y=1358¢0pod’ 28yd 6g V&I Srrego, SEEY rdes®
(1) 12 \/(2) 48 (3) 144 “4) 72
(iii) Statistical Ability (Marks : 10)
141. The median of the following data is
800 dgromra8 Dgido
8,47,1,1,54,3,9,2,8,6,7
aj 4 -~ @ 7 3) 5 “4) 6
142. The arithmetic mean of 12, 22, 32, ........ , 15%is
12,22 32, ... , 15% © wo¥ &uigivo
248 248 496 246
v £ @ 2 @ 2 @ %

143. The standard deviation of 105, 110, 115, 120, 125, 130, 135, is

%10

105, 110, 115, 120, 125, 130, 135 © (D RodHo
(1 20 (2) 40 3) 30

144. When 3 unbiased coins are tossed, the probability of getting exactly one head is
3 QaHEE T oD HHY Ik p)Sorr 2.8 ) TH@IS Dogrdgd

O VA @) i

3 8 8

24
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145.

l 46.

147.

l“l

149,
" datais

lm‘

When two'dice are thrown together, the probability that the sum obtained on them is 7, is
Bodh arDEOD 28370 WOBKYE T8 $T) 8080 Ao 7 S*darDs Dogrded

5 1 5 31
1 35 @ g @) § @) 35
The probability that a number chosen at random from the set {1, 2, 3, ....... , 90} is
divisible by 4 or 6 is
' U T S— , 90} HW8 Low eréaibéon' QDY) w8 dowg 4 S 6 T

2 Nodadérs Ko ;boe,résé

7 1
» o2 ! @

If a leap year is selected at random, the probability that there will be 53 Thursdays in that
year is

a8 8P - Doddyordy Ao dowHod, ©  DoddyBos® 53
H&arorenoddrds eooz,résé

1 5
M 3 ey ® 3 @ &

If a 3-digit number is formed at random using the digits 0, 1, 2, 3, 4, then the probability
that the number is even, (no digit is repeated) is

0, 1,2, 3, 4 ®080%H33rN0D o8 3 ®oBe «)o:pgiéo eréaQﬁom .)630:0 s Jowg
DO & Dopg SHard8 cooe,résé (&3S ©03H ad%oar)

3
m 2 @ 2 ® 3 v

If the median and mode of 10 observations are 12 and 16 respectively, then the mean of the

oo |

10 H0Rwdend) 2 Sgromd igHso, erdmoedo SHBM 12, 16 wowd
Serom8 wo¥ g0

1 14 () 15 vé 10 @) 11

If the arithmetic means of two data having 24 and 16 observations are 10 and 15
respectively, then the arithmetic mean of the combined data is

24, 16 H0ReBenS) Bodh Sgrome wo¥ egiren HEHIT 10, 15 wond, o8 adnd
S8°07)8 wo¥ é\:é}a’wo
(1) 125 2) 12 (3) 20 @) 13
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SECTION-C
Communication Ability

Questions : 50 Marks : 50
PART -1

Choose the correct meaning for the word given :
151. Rapture

(1) Gloom %) Ecstasy (3) Rupture (4) Rapport
152. Downsize

(1) Small (2) Shortlist (3) Recruit "6 Reduce
153. Visage

(1) Foreign .vé) Countenance (3) Old (4) Embassy
154. Equanimity

(1) Amity (2) Unanimity (3) Anonymity \4 Composure
155. Apprehend

(1) Punish Q) Sympathise Vé Arrest (4) Imitate
156. Optimize

(1) Victimise (2) Mesmerise

\A) To make the best.use of (4) To make the least use of

_ Fillin the blank choosing the correct word :
157. A tornado the islands yesterday.

(1) slushed 32) struck (3) hurt (4) slammed

158. The telephonic message her so much that she broke down.

VG) saddened (2) blew (3) effected (4) animated
159. Trespassersshallbe .
(1) persecuted V6) prosecut (3) admired (4) harassed
160. Neither heat nor cold the diligent.

(1) misses \42) daunts (3) encourages (4) prompts
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\ ' PART -2
Choose the correct answer :
161. The term CDMA is used with reference to
(1) operating system of a desktop computer
2) mobile phones
(3) cathode ray tubes :
(4) programming languages

162. A set of related programmes that protect a private network from users of other networks is
called

(1) Electronic Mail VG) Firewall
(3) Digitizer (4) " Input Device

163. Resolution is
(1) forming characters on a page Vé) the fineness of scan of an image
(3) transferring an image to a carrier (4) identification of the directory

164. An exact copy of written or printed material is called
1) facsimile (2) copier (3) concord (4) faction

165. Multimedia hardware consists of
(1) television and camcorders
(2) microphone and cassette recorders
\/6) speakers, a soundbgard and a CD ROM drive
(4) television and VCR

166. Stocks and property owned by a person or organisation are called

(1) estate (2) holdings \4_5) assets (4) liabilities

167. A record of the proceedings and resolutions passed or decisions taken at a meeting is
_referred to as
(1) agenda (2) notice (3) circular V)  minutes

168. The arrangement of funding capital from abroad by a company directly from an investor is
known as

V(i) FoI (2) FI (3) FERA (4 FEMA
Y )

169. Convertibk deben are converted into company's .
(1) deposits 2) shares (3) commercial papers (4) bonds

170;2 document which has a monetary value, such as a draft or a cheque is called
W1(1) Financial Instrument (2) Financial Document
(3) Financial Agreement (4) Financial Bond

27 P.T.O.
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PART -3
Choose the correct answer :
171. ] beg your pardon, I never said that at all.” Here ‘I beg your pardon’ expresses

1) disagreement (2) anxiety (3) surprise (4) sorrow
172. A : “How nice of you to drop me home !”

B : *“Ihad no choice.”

Bis

(1) happy (2) indifferent \»6) resentful (4) emotional

173‘.200 shall not enter my house.” The sentence is a
1) command (2) promise (3) entreaty (4) request

174. Local people raised a terrible ‘hue and cry’ against the committee’s decisions. What does

hue and cry mear ? :
\J({) clamour

(1) demand (3) sorrow (4) acceptance

|
175. “Kartik burnt his fingers while trying to help his brother’s company.” Here burnt his

fingers means |
(1) that he was insulted.

(2) that his fingers were burnt in an accident.
) that he suffered the unpleasant results of his actions.
(4) that he was totally ignored.

176. When Tom accidentally erased some files in Dick’s computer, he wanted to make a clean
breast of it. The underlined words mean

(1) wipe out all‘ evidences. (2)“ . restore all the files.
v(!) confess the truth. (4) shed tears inviting sympathy.
177. “He builds castleg in the air” means
. v({‘ he is an archjtect. (2) he is an engineer.
) heis _adaydrcamer. (4) heis a visionary.
Fill in the blank with the appropriate phrase/verb/preposition :
178. Honest people their work.
(1) stick up E) stick to (3) stick over (4) stick off
179. Will the seminar _____ 7
) come off (2) come up (3) come down (4) come out
180. The plane to a great height.
(1) lifted (2) raised (3) elevated \6 rose
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181. The doctor wanted the patient to be on the bed.

(1) lied ) laid (3) slept (4) laying
182. Much water under the Ganges.

(1) flew (2) hadflown  (3) fled ‘6 flowed
183. The police took the miscreants custody.

1) into (2) in (3) for (4) from
184. He finishedthework __ two hours.

(1) on (2) by \/g;rs in (4) till
185. He quickly jumps conclusions.

(1) along ) to (3) after (4) over

PART -4

Read the following passage and answer questions 186-190 :

The animal mind is like a telephone exchange, it receives stimuli from outside through the
sense organs and sends out appropriate responses through the nerves that govern muscles, glands
and other parts of the body. The organism is constantly interacting with its surroundings
receiving messages and acting on the new state of affairs that the messages signify.

But the human mind is not a simple transmitter like a telephone exchange. It is more like a
great projector ; for instead of merely mediating between an event in the outer world and a
creature’s responsive action, it transforms or, if you will, distorts the event into an image to be
looked at, retained and contemplated. For the images of things we remember are not exact and
faithful transcriptions even of our actual sense impressions. They are made as much by what we
think as by what we see. It is a well-known fact that if you ask several people the size of moon’s
disk as they look at it, their estimates will vary from the area of dime to that of a barrel top. Like
a magic lantern, the mind projects its ideas of things on the screen of what we call ‘memory’ ;
but like all projections, these ideas are transformations of actual things. They are in fact, symbols
of reality, not pieces of it.

186. An animal mind and a human mind differ like
) atelephone exchange and a projector.
(2) ascreen and an image.
(3) alantern and a candle.
(4) projections and illusions.

187. an memory is subject to
1) thought and visual impression. (2) thought and reasoning.
(3) fancy and fantasy. (4) nothing but hard training.
188. The animal mind’s stimuli emanate from
(1) within v(f) without
(3) human agencies (4) nowhere in particular 3
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189. The human mind

1) modifies an image. (2) sticks blindly to images.
(3) does not record images at all. (4) fails to respond to things.
190. Memory is
1) the mind’s screen. (2) like the moon's disk.
(3) like a barrel top. (4) like a magic lantern.

Read the following passage and answer the questions 191-195 :

Paper is different from other waste produce because it comes from a sustainable resource
trees unlike the minerals and oils used to make plastics and metals, trees are replaceable. Paper is
also biodegradable, so it does not pose as much threat to the environment when it is discarded.
While 45 out of every 100 tonnes of wood fibre used to make paper in Australia comes from
waste paper, the rest comes directly from virgin fibre from forests and plantations. By the world
standards this is a good performance since the world average is 33 percent waste paper.
Governments have encouraged waste paper collection and sorting schemes and at the same time,
the paper industry has responded by developing new recycling technologies that have paved the
way for even great utilization of used fibre. As a result, industry’s use of recycled fibres is
expected to increase at twice the rate of virgin fibre over the coming years.

191. The most suitable title for this passage is
(1) Paper Production ‘6 . Paper Recycling
(3) Paper Manufacture (4) Wood Fibre

192. Paper is different from other waste products, because
(1) it cannot be easily destroyed.
(2) it comes from an irreplaceable source.
Mg; .t comes from a sustainable resource.
(4) itis not biodegradable.

193. A special‘mention of Australia is made in the passage, because
(I)  Australia’s performance in paper production is extraordinary.
(2)  Australia is performing very well in growing forests and plantations.
(3) Australia’s performance in recycling is much lower than the world average.
Vd) Australia’s performance in paper recycling is much higher than the world average.

194. Which of the following is true, according to the passage ?
). Paper industry’s use of recycled fibre will go up in the coming years.
(2) Plastics and metals are biodegradable.
(3) Itis better to use virgin fibre rather than recycled fibre.
(4) Paper waste causes the greatest threat to the environment.

195. Which of the following is not directly relatgd to paper recycling ?
(1) Collection of waste paper )~ Growing forests and plantations
(3) Sorting of waste paper (4) Development of newtechnologies
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Read the following passage and answer questions 196-200 :

Make your meaning, whatever it is, plain to your audience. Though unclear speech is
usually due to unclear thought, this is not always so. Some persons who think clearly have not
learned to express themselves clearly, because they are nervous in public, or have an insufficient
command of words. In such cases, it may be better to resort to the device, otherwise to be
condemned, of reading a speech rather than confuse the audience. Let the construction of
sentences in your speech be simple enough for the hearers to follow and the words such as they
cannot fail to understand. To find themselves puzzled over your meaning, and while they are still
puzzling over your last sentence, to be unable to attend to the next one annoys your hearers and
lessens the chance of pleasing or persuading them. This may result in their losing their interest in
the speech as a whole. Ultimately they may simply leave the hall.

196. According to the writer, unclear speech
(1) is always an indication of confused thinking.
(W) may not be due to confused thinking.
(3) may be due to the confused minds of the audience.
(4) may be due to some voice defect.

197. Some persons who think clearly, fail to impress a large audience because they
(1) have a feeble voice. (2) make clumsy gestures.
V(S) are overpowered by fear. (4) do not modulate their voice.

198. It is stated in the passage that reading out a speech
(1) isthe best method for impressing an audience.
(2) should never be recommended.
\‘6) . may be useful in some cases.
(4) is necessary on formal occasions.

199. According to the writer, the audience is generally annoyed by the speaker’s
(1) unpleasant body language. (2) lucid sentence structure.
V(3) high flown language. (4) use of rhetorical devices.

£00. The annoyed audience, according to the author of the passage, may

(1) find the speech persuasive. (2) start talking among themselves.
(3) start booing. Vd) quit the venue.
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